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Sequences Review Homework

Find the indicated term of each sequence.
22 -2 165 16.% +(.6
1. 12th term: 7, 14, 28, 56, . 2. Gthterm: 2, 8.5, 15, 21.5, ..

7:2" | | Ar6.5(8) ‘@]

Find the ei:plicit formula and recursive formula for each sequence;

3. 1,2.5,6.25,15.625... 4. 25,55, 85, 115...
2 Recumve Tc.-l- '
q =1
' 'S +30(n-1)
a =726 qn—u ‘Fn) 25 l

5. 20,200, 2000, 20000...
E: fhc' Keeam Ve

£ =20-10"_||fF=20
Fen) = |0¢ -F(ﬂ*l)

7. Seats in a concert hall are arranged in the pattern shown. -
The number !&frseats in the rows form an arithmetic sequence.

Hype

a. Write afor the arithmetic sequence.
! ;q 6 2
’r
Gn - qn-] *3

b. How many seats are in the 15t row?.
@, =6+304) 0, =19

" ¢ Aticket costs $40. Suppose every seat in the first 10 rows is filled. What is the total revenue from

those seats" Showall o ,your work.
Bow | Pow'. Rew fowé Rov? Rl R Rewlo
C +&;~4-|3 +15 *T6 +21 +24 +27 + 30 +33 = |95 seaks Heal

x‘}"lo per "HCKP*

$7400 “otal reenve]
8. The growth of Vanderbilt’s squirrel population approx1mates a geometric sequence. After 4 years there
are 2,880 squirrels and after 6 years there are 46,080 squirrels.

‘Péc ursive

a. Write an explicit formula and a recursive formula to model this 51tuat10n £

Year 412880 dgow 23w =16 € W6 fr Ayears Y 4;50
L - l

Year 6:460%0 Byeris ot 1
' w ato L

' \§ usze
b. How many squirrels will there be in 11 years? Yo 4e0®
Yo' (47195920 syuirrels '
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9. The recursive formula for a sequence is a1 = 25 ; “an = 3°an.1. What is the explicit formula?
' - 5,75,225,675, et

NSl - 2
FyIase L 3
3 502 e 8 B ] |
m - 3

10. Stephen knows the fourth term in an arithmetic sequence is 55 and the ninth term in the sequence is
90. Explain how Stephen can find the common difference. Then find the first term of the sequence and
write the explicit formula for the sequence.

) ,%?55)65 fr b terms

9th=90 . I
47 for 1torm
ance.ﬂii"mﬂh:sed by 35 -ﬁr\ 5+erm5‘ i ] 191
by 7 frech forml, (y0-55)+ 5 '

CREAT o 34§ - -
F AR ﬁ Op=34+7(n ) e T
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